
A B

B

C x2

D

E

F

G

H

I

J

K

K

L

N

P

Q

M

N

P

Q

Parts List

A

C

D

E

Handtruck Assembly

Short U-bracket

Locknut (M8)

Long U-bracket

Wheel

Wheel Axle

Small Washer (M8)

Long Bolt (M8-1.25x55)

Left Fin-bracket 13mm

Short Bolt (M8-1.25x45)

Cotter Pin (.125” D, 1.125” L)

Large Washer (M16)

G

H

I

J

Right Fin-Bracket

Recommended Tools

Cushioned Handle

Right L-Bracket

Left L-Bracket

Handle Assembly

F

x10

x8

x2

x2

x4

x6

x2

x1x1

x2

L x1 M x1

x1

x2

x2

x1

ProDryingRack Transport Handtruck (PDRTR.HT)

The PaintLine     PO 1324 Menlo Park, CA 94026     (510) 477-9100     thepaintline.com



· Align the long U-bracket (D), right Fin-bracket (M), and right L-bracket (P) with the holes in the handtruck assembly (A) extrusion.
· Attach using two short bolts (J), two small washers (G), and two locknuts (F). Tighten using 13mm rachet and wrench.

· Slide the wheel axle (B) through the top hole on the right Fin-bracket (M). Align the axle pin with the right Fin-bracket groove.
· Slide the wheel axle (B) through the top hole on the left Fin-bracket (L). Align the axle pin with the left Fin-bracket groove.
· Align the long U-bracket (D), left Fin-bracket (L), and left L-bracket (O) with the holes in the handtruck assembly (A) extrusion.
· Attach using two short bolts (J), two small washers (G), and two locknuts (F). Tighten using 13mm rachet and wrench.

L

M
PA

D
G

J

F

D
G

F

B

M

A

J

The PaintLine     PO 1324 Menlo Park, CA 94026     (510) 477-9100     thepaintline.com



· Slide a large washer (H) and wheel (C) over each end the wheel axle (B).
· Insert a cotter pin (I) through hole at each end of the wheel axle (B). Use needle-nose pliers to bend cotter pins to locked position.

· Slide the handle assembly (N) into the handtruck assembly (A) extrusions. Align the handle and extrusion holes.
· Align the short U-bracket (E) and right L-bracket (P), with the holes in the handtruck assembly (A) extrusion.
· Attach using two long bolts (K), two small washers (G), and two locknuts (F). Tighten using 13mm rachet and wrench.
· Repeat on the other side with the left L-bracket (O).

KN
P

A

C

G

H

F

I

B

E

The PaintLine     PO 1324 Menlo Park, CA 94026     (510) 477-9100     thepaintline.com The PaintLine     PO 1324 Menlo Park, CA 94026     (510) 477-9100     thepaintline.com



Lo
ck

 w

he
n pulling/pushing handtruck!

Align with fork!
Lo

ck
 w

he
n pulling/pushing handtruck!

· Slide the cushioned handle (Q) onto the handtuck assembly (A) tubes. Align the handle and tube holes.
· Attach using two long bolts (K) and two locknuts (F). Tighten using 13mm rachet and wrench.

K

Q

A

F

The PaintLine     PO 1324 Menlo Park, CA 94026     (510) 477-9100     thepaintline.com The PaintLine     PO 1324 Menlo Park, CA 94026     (510) 477-9100     thepaintline.com


